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1% Periodic Test: 2024-25

¥
: CLASS - VI
Time: 1 Hr. English F.M.: 20
1. Answer the given questions. 1X5=5
a) Rocky often gave chocolates and walnuts to the narrator. (True/False)
b) ‘The Birdie’ did not accept diamond necklace. (True/False)

¢) Tom could not change the price of the ring because
d) At the end of the play, Mr. Higgins was angry at Tom because
e) New Delhi is (A/An/The) capital of India.

2. Each question carries 2 marks. 2X2=4
i) Why did the narrator follow Aunt Ruby and Rocky secretly to the jeweller’s shop? What reason
did Tutu have for following them?
ii) Why does the bird refuse to accept the various comforts offered by the child? Discuss briefly.
3. Each question carries 3 marks. 3X2=6
i) A feather necklace round and round,
That | would not sell for a thousand pound!
A) What is the necklace offered by the child made of?
B) What is the necklace that the bird has made of?
C) Which necklace does the bird prefer? Why?
ii) Did Tom prove to be a god assistant? Justify your answer keeping in mind Tom'’s business learning, politeness,
sincerity in his duties and readiness to assist customers and negotiation ability.
4. What is an article? Differentiate between definite and indefinite article. Make 2-2 sentences each using the
articles: A, An & The. 1X5=5 (1+1+3)
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CLASS - VII
Time: 1 Hr. English F.M.: 20
1. Answer the given questions. 1X5=5
a) Rocky often gave chocolates and walnuts to the narrator. (True/False)
b) ‘The Birdie’ did not accept diamond necklace. (True/False)

¢) Tom could not change the price of the ring because
d) At the end of the play, Mr. Higgins was angry at Tom because
e) New Delhi is (A/An/The) capital of India.

2. Each question carries 2 marks. 2X2=4
i) Why did the narrator follow Aunt Ruby and Rocky secretly to the jeweller’s shop? What reason
did Tutu have for following them?
ii) Why does the bird refuse to accept the various comforts offered by the child? Discuss briefly.
3. Each question carries 3 marks. 3X2=6
i) A feather necklace round and round,
That | would not sell for a thousand pound!
A) What is the necklace offered by the child made of?
B) What is the necklace that the bird has made of?
C) Which necklace does the bird prefer? Why?
ii) Did Tom prove to be a god assistant? Justify your answer keeping in mind Tom’s business learning, politeness,
sincerity in his duties and readiness to assist customers and negotiation ability.
4. What is an article? Differentiate between definite and indefinite article. Make 2-2 sentences each using the
articles: A, An & The. 1X5=5 (1+1+3)
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